H & 0l & AHS B Ml A

PN =28
B ZOMEHOCD(I5E)(YVDRUE/ULIHE)
o2l SEHE 2F (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=23 366,454 316,756 39,698
FORAIEOCR(SES) (LESSHE/LLHET) 321,304 284,036 37,268
Sy =29 321,304 284,036 37,268
Sy 29 N2gl 10,600 12,400 1,800
201 fer= 3| 8,100 7,700 400
01 At 2|l 5,100 4,700 400
OSHEHEFA AIR22(H 4,500,000 4,500
O=2SE &8 Zeld gz
50,000& * 122 600
2 s5=34l 3,000 3,000 0
OsgdFd 5523 1,000,000& 1,000
OXr&=All 2,000
o SHHHRUHE(1E EH)
1,000,000 1,000
o XEFE=X(HIIXSI)
1,000,000 1,000
202 0o4dl 2,500 2,500
01 2L AL 2,500 2,500
Osdd=d U0l 1,500,000& 1,500
OXEH=XE 20 1,000, 0002 1,000
S 4TS FOSRAAY U AAAAE X2 (2EE) 20,000 0 30,000
401 Al&EIZ 2 OHY] 30,000 0 30,000
01 A&t 30,000 0 30,000
OBY =REaH HEXY
2,500,000 *43] 10,000
OARE FoIZHMEOIR X2
20,000,000 20,000
FUXAME 29 67,644 47,616 20,028
201 2= 19,096 18,096 1,000
01 At22t2l] 17,096 16,096 1,000
OI0IZ FUSH 1,000, 0002 1,000
OZURXYLEZ =8| A=
250,000 122 3,000
OZ0INXISILS! 819 EA S
20,0002 x28EH *23| 12 x90% 12,096
Oy 153t Z218(8#3XB0| 29)
1,000,000 1,000
02 S5=2g4l 2,000 2,000 0
O=2IXXIHE Al EHI 7]
2,000,000& 2,000
206 MH=H| 8,640 7,200 1,440
01 M=4l 8,640 7,200 1,440
ORI NHSAHES NS
720,000& 128 8,640
301 22N = 39,908 21,520 18,388




PN =28
B ZOMEHOCD(I5E)(YVDRUE/ULIHE)
el sy =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 5,888 1,920 3,968
OFCd3 NASALA S4|
8,000 202 »243] 3,840
Oy 153t Z2 (&3 XZ0| A& SA
A+ S4HI) 8,0002 162 +23|+83 2,048
14 JIEt2 8= 34,020 19,600 14,420
OFUNXZ2H LA
90,0002 <7 +62]+x0E= 34,020
AR 2tel 25,432 25,980 Ab48
201 Ler23| 25,432 24,980 452
01 At2teltl 9,432 9,080 352
OSOIFKIZHIAAY 8|
90,0003 x 12 1,080
OAagorMae| e 2|
165,000« 12& 1,980
O&JI&€H| ™2 EH]
134,310~ 12& 1,612
OBA E=0| SUE 170,000& * 12 2,040
OFAL otEAHI0 83U
20,000 *3CH* 122 720
OF AT A2l LEt2dH|
2,000,000& 2,000
02 s5=34l 16,000 15,900 100
O&AF Hatx FEab| 1,000,000 1,000
SAAIE EH] 7X2tel 5,000,000& 5,000
OFARXZel 332g8I(dI123)
833,330 * 122 10,000
s -2y 23523 187,628 198,040 /10,412
201 er23| 26,736 40,272 A13,536
01 At2teltl 26,736 40,272 13,536
oSty NAMEEX ASKE 26,736
oY 20,0002 =255+ 122 6,000
o N2l 18,0003 *6F+ 128 20,736
301 22N 160,892 157,768 3,124
o7 8801 - 32243 149,580 162,680 23,100
Oos&d=+¢ 145,080
oJle=¢ 300,000 *x31E12& 111,600
o &3 300,000 *31H*23] 18,600
o3o|FH Y
20,0002 «31H*23| 12 14,880
Oogtd ¢ 4,500
oJle=¢ 25,0002 +90H 2 4,500
4Bt 2 a3 11,312 5,088 6,224
OS - gt& X0 SHENSFE K&
4003 *121E+20 & 42 3,872
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